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= 6,007,757
[ 1,942,000
Jl 149,160
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= 13,856,555

AED SN (S o4/ - ALE) 17,518,654 13,060,855 4,457,799
= 5,956,607
= 1,942,000
Il 149,160
ES 216,000
< 9,254,887

=8 JSHAH 2= 5,070,120 5,681,541 261,421
= 303,132
s 1,942,000
Il 149,160
ES 216,000
< 2,450,828

dH=Z8(=312) 96,192 71,338 24,854
= 37,975
S 58,217

401 AlZHIZ S OHbI 96,192 71,338 24,854
= 37,975
= 58,217

01 AlZ8| 88,948 65,933 23,015
O3 N=x8 83,948
= 35,115
= 53,833

02 Zeld| 6,344 4,705 1,639
OXE A 6,344
= 2,505
[ 3,839

03 Al = THHI 900 700 200
OXEHAIY 900
= 355
= 545

N3ty Z4(=1) 104,478 70,888 33,590
= 42,028
== 62,450

401 AlZHIZL SO 104,478 70,888 33,590
= 42,028
[ 62,450

01 AlZH| 97,516 66,049 31,467
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= 36,444
= 36,445
ott=+8 13,044
= 6,522
< 6,522
ORIt 50,353
= 25,176
= 25,177
(OES=INPIE) 88,569
= 44,285
= 44,284
02 Zell 33,155 76,860 A\43,705
OZ2LIR I 13,395
= 6,698
= 6,697
OO LI IHI] 8,160
= 4,080
= 4,080
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Jl 8,947
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03 A2 20HHI 2,000 2,700 AT700
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= 1,000
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= 62,340
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= 49,600
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= 44,120
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< 5,480
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= 8,130
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= 1,110
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[ 3,500
= 1,500
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ARl Etel e
stE SIS E (saa e/ 8 Y
NE - s (ol @)
SA - ZE - BR(3) - HRA - B of v e HIDE2
207 ARl 2,000 2,000
03 Alg 32t 2,000 2,000
Oo7 228 Y S 2,000
SEXS S0l28E AME St AS Ml Jl=He 23,942 23,565 377
101 @12A4H| 16,742 16,365 377
04 JIZtN2 2N S 2+ 16,742 16,365 377
OIS J1=HE 22X 2124 16,742
201 et 3| 3,600 3,600
01 At2t2l] 3,600 3,600
O 22|18 22 & AHSHX 3,600
202 04l 3,600 3,600
01 2LHoIH 3,600 3,600
OANES2X =4 & SEEE S 3,600
2 WSO ASAHE B0l Atet ¢ 46,380 45,752 628
101 @124H| 34,880 34,552 328
04 JIZtN2 2N S 2+ 34,880 34,552 328
o2 LA 1Al S 34,880
201 et 3| 9,000 7,200 1,800
01 AtR2tc|Hl 7,500 7,200 300
OAMF2E=3, ZHl Xz S 7,500
02 S5=24g4l 1,500 0 1,500
Ogxitg 7=l 1,500
207 ARl 2,500 4,000 21,500
03 Alg 3 -2HI 2,500 4,000 21,500
ou-E Mz 8 S 2,500
JEAMHEI0I2 ST HE B 5,000 5,000
201 er=3| 5,000 5,000
01 AtR2te|HI 5,000 5,000
OZFMINL HDlal & g2sl 2 S
- 5,000
J=He Fof MEHASE X 28 & a2 94,000 94,000 0
= 2UE
101 @124H| 71,000 70,300 700
M OIRIMZZE2NSE S 71,000 70,300 700
OJIZHHl & HAIIZ2 AL 212 S 71,000
201 er2 3| 12,000 11,500 500
01 AtR2t2|HI 10,000 10,000 0
OXAIAIE &It & AIRES 78 10,000
02 s3=gHl 2,000 1,500 500
OZAIY FFHl S 2,000
202 04l 7,200 7,200
01 SLHoIH 7,200 7,200
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%._F HAol = g 2e (SH &)
SA - ZE - BR(3) - HRA - B of v e HIDE2
01 TR ESFSHI 4,470 4,470
o224t &H, 2K, SEEN S 4,470
406 JIEFAHZ0l1H 10,000 10,000
01 JIetA=01d 10,000 10,000
Oz ZAEES(22) 10,000
SR D) (SRR 164,766 164,766
= 82,383
= 82,383
401 AIEHIZ R HYI 164,766 164,766
= 82,383
=S 82,383
01 Al&H| 180,642 180,642
OZU=IHI| 59,556
= 29,778
< 29,778
(Ofala=—SS 13,544
= 6,772
= 6,772
Od =M =IHI| 77,542
= 38,771
=S 38,771
02 Zeltl 12,763 12,763
OZ LRI 7,527
= 3,763
< 3,764
O&t=0ilg=I11I] 5,236
= 2,618
= 2,618
03 Al 20HHI 1,361 1,361
OZU=IHI| 609
= 305
S 304
O&t=0ilg=I11] 752
= 376
= 376
S3MEIRIN(=1) (ERX 174,280 174,280
= 88,640
=S 85,640
101 @124H| 162,356 162,356
= 77,459
== 74,897
MU IIRINZZENSES 152,356 152,356
Ot A2 ZARE 40,120

- 759 -




od
i’
oF
uJ

N N S S S S 3 3 33
o o S S S S S S =
A0 N © o = S = - - -
Klo
E
E=)
(e} ([e) (@) ([e) () (@] (@) ([e) (e}
3T
uiied
RIS
&&mmwwnﬁ%m@m&%m%%%m&%%mmmm%mwwmmwmmmwm%m%%mw
< O© [N DD IO MO O M~ MO0 — M~ o — O O U T O O 0 g[S O O o O OO O O OO0 M~ T D M~ — | O
SO EITFTO B oL BB ZSlEBNCSD—— 066 ddgw o gssgg s sl— == ==
ar
<
=
oW oW oW oW oW o oW oW oW o W oW oW
or =]
) %
=1 =]
. m__A HE.H _
< 0 K o
I+ l n 5 0
= = 150 = = .
. E= Y I 5 r o
) 0J i =
= - v = = L) [
i R < o |@ B Y
=l s 8 2 I L
oF - = 2! — — KO o )
a7 = = o] T D - o o 80 = 5 - <0 = =
. ~ ~ ~ 0 o ol sl z ° 0H 0 S i 30 o
= A A N O AT ioH 0 D wr OF Mo & O A
H ~ ~ ~ o oF b 0F fo Mk ok o) o © = o) -
RO {H < {H ol = E Mo Ok = all = < = il =
™ =
o © @) © — — O © o © ol —_ = © 50 = 5
3 I e e = N e i < e
I+ (i Ed

- 760 -



S AR
B AYDB| SN (SRHYSA/ YL - AE)
Eelr HsSa dao = 29 - 2al EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
ONOIASHEYI (XS &, 27, SHEL
s) 1,950
= 780
[ 1,170
SEUXICHR(K2)( 48,000 48,000
= 19,200
= 28,800
405 KHaHE SH 48,000 48,000
= 19,200
S 28,800
01 T =ZFH 48,000 48,000
Odt=d oAt 48,000
= 19,200
== 28,800
A2y E)(=0)(E2XH) 10,400 10,400
= 5,200
= 5,200
405 AtatE = 10,400 10,400
= 5,200
= 5,200
01 ML ESFH=S 10,400 10,400
osHEs 10,400
= 5,200
=S 5,200
SHl(arg st )(OIEH/I1E}) 4,652,818 4,087,428 565,390
= 51,150
= 4,601,668
gl 4,464,522 3,918,084 546,438
= 51,180
= 4,413,372
S2E 212l XI& 2,880,030 2,592,768 287,262
101 @124H| 2,880,030 2,592,768 287,262
01 &= 2,181,584 1,877,575 304,009
oJlZ=s 1,664,428
os= 1,565,026
-2 977,629
= 7,782,102 x18 128 93,386
o= 6,295,950 «2E « 12 161,103
6= 4,095,000 6H 123 204,840
= 2,728,000 ~8H 122 261,888
82 2,260,000 «4E 12 108,480
=] 1,887,000& x3E «12& 67,932
- 540,240
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SH: MRS
M YA (A2 uEAR2A) (DIEHDIE
chol: ol (19l @2
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
A 5,806,0002 2« 12& 139,344
HATA 3,712,000 9 12& 400,8%
—LEHADIA 47,157
= 3,929, 7503 x 1B+ 128 47,157
O 99,402
-2 1,192,822,8002*1/12 99,402
(@ES=, 197,272
OIEE 23,160
A 40,0003 *198 123 9,120
-F2AE 20,0002 6« 122 1,440
- R XHA 30,0002 14+ 122 5,040
=M A 70,0003 -9« 12& 7,560
(O s = ) X 27,240
2050 & 100,000&+8H 122 9,600
-15~20& 0] et 80,0002 =8+ 12& 7,680
-10~15= 0| 8t 60,0002 <6+ 12& 4,320
-5~10= 0/ 8¢ 50,0003 *4F 123 2,400
-54E0| et 30,0003 x9H 123 3,240
OFZ2FIHS 2,160
250 & 30,0003 x5 12& 1,800
—20~25= 0| 8t 10,0003 *3H + 123 360
OURIERA=+E
4,095,000& *4, 1945« 12 8,059
OS=X22+2H(EX)
60,0002 x3*12& 2,160
OExX22+<(2X)
40,0003 «3Z =128 1,440
OEsgR2e 26,760
Jl=38sY 6,240
52014t 30,000 =2« 12& 720
6~72 30,0002 x10¥ + 123 3,600
8=0Iot 20,0003 «8F 123 1,920
JlsdEsEHIHZ 3,960
- JISZ/IIAM 30,0002 +6E* 123 2,160
- AEA DAL 20,0002 «6E~ 123 1,440
- 286Ta 10,000&x 14+ 123 120
- 28892 20,0003 x1Z 123 240
- 80,0003+ 118+ 12& 10,560
SR 100,000 x5 * 12 6,000
OAItI224E
11,6023 *25 A1 2++28H + 123 97,457
OFg2R=E 129,938 x2H »34 8,836
(OFSPLI=EalL]] 140,0002 x36H 123 60,480
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DA A DS
M HAPAZHI(MSUSHARR)(DIEH/DIE)
cHol: ol oy| (SHol: &)
RA - BE - SHAEH) - HRA - BAS ol &t e HIDEY
OgESIt| 1,318,905,000& *1/12+120% 131,891
(©ftalp] =k
1,563,393, 0002 *1/12+86%+1/30% 132 48,553
OXZ 2 x|
52,980,000 (L BHA1)+25,980,000& (H 7
) 78,960
02 JIEtM = 698,446 715,193 A16,747
OHAMHESA L AIIH 698,446
oJlzs 455,376
~HAMEES A S0
3,449,811« 11H« 122 455,376
Odoi= 37,948
-d2+E 455,375,067&*1/12 37,948
OItE+g 13,920
- <= Xt 40,0002 x0E* 122 4,320
-S2HE 20,0002 x8E * 12 1,920
LU PE 30,0006 * 122 2,160
=Mt 70,0002 x5« 123 4,200
—SUH A 110,000 x1&* 122 1,320
Oda+=gitits 11,400
-2080l&t 100,000& 62~ 123 7,200
-15E~20E 0] 2+ 80,0002 x3&* 122 2,880
-10~15&0/ ¢t 60,0002 x 1 » 12 720
-5~10& 018+ 50,0008 x1&x 122 600
O&EZFINRI=S 1,680
264 0|4 30,000 x3&* 122 1,080
-20~25= 0|8t 10,0002 «5E « 12 600
OS#=X22+2(2X)
40,0002 x4 x 122 1,920
OS=g2=¢ 4,440
JIEsEESZ(824E)
20,0002 x11& 128 2,640
JlsdEgkts
30,0002 x5~ 122 1,800
OAl222+E
11,6022 x25A| 2H+ 118« 123 38,287
Oxrdz2f=d 109,465 x0E x26 25,615
OdHZAH| 140,000 x11E 12 18,480
Og&E=Itd| 455,375,067 *1/12+120% 45,538
OgIt= 4|
485,375, 0672 +1/12x86%+1/30% 13 14,142
Ootel &S| 50,0002 x11&~12& 6,600
OFSF=1=-EN 175,0008 x11E«12& 23,100
S22 212 K& 1,410,326 1,076,202 334,124
101 @124H| 1,268,345 968,785 299,560
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SH: ARisteI e
M HAM2HAHI(AMZUSATRR) (DIEHIIE
el QIE2E ESR=ED
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
03 BRA(RIH L) 22U E > 1,268,345 968,785 299,560
oL 88,314
oJl2= 2,728,500 «2F 12 65,484
oE2=+g 5,457,000%1/2 2,729
OJ&E=g 720
- <Xt 40,0003 1+ 128 480
-SHE 20,0002 x 18 x 122 240
OAIZt 22+
20,9703 1502 x2 A 2t * 128 1,510
Ogxtraszt=g
167, 7613 x2H 132 4,362
OZEFItl 65,484,000 *1/12%120% 6,549
Os4l 140,000 x2&* 122 3,360
OusHl 100,000& x2&+ 128 2,400
OxRedg 50,000+2&~ 123 1,200
OAHARE 2 HFAURA 1,180,031
oJ12= 2,617,300 «26H « 122 816,598
oga+¢ 68,049,800%1/2 34,025
OEx=g 17,640
-t <Xt 40,0002 x16E~12& 7,680
-FE 20,0002 +7&E* 122 1,680
LU PE 30,0008+~ 12 3,240
L PNE 70,0003 6 * 128 5,040
OAlRt 2|22+
21,310+ 150%+ 262 +2A| 2+ 12 19,947
Odxt=ES7 =&
170,484 x26FH « 13 57,624
Oxrd=Z2f=¢ 170,484 x14H«26 62,057
OFEEFIHI 816,597,600 *1/12x120% 81,660
Oz Al 140,000& x26Z * 123 43,680
OunsHl 100,000& x26E * 123 31,200
Oxeag 50,0002 x26% * 128 15,600
WM HSRE=S 141,981 107,417 34,564
M SRE(RIAHA) 22X BEEHEREE S 141,981 107,417 34,564
OEEERE= = 141,981
SSAFIDPRD| eIl K& (=12) 41,478 38,795 2,683
= 13,150
S 28,328
101 e124d| 37,305 34,951 2,354
= 13,150
S 24,155
03 BRA(RIAHY) 222 37,305 34,951 2,354
O334tEIH| 37,305
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SH: ARTEI e SRIE
I MDEDIE N (SR (STHLSLA/LL - &
ol ==8 FEAHAH 2= EER=E)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
stg st @ S2X3 3,937,064 3,818,099 118,965
= 329,327
[ 514,100
Jl 54,240
[ 3,039,397

AEWED Iz NS (SR (ol Lo/ g - &HE) 2,989,887 2,893,576 96,311
= 329,327
s 514,100
Il 54,240
== 2,002,220

C=e ZEMA 2= 1,893,745 1,830,101 63,644
= 302,467
= 514,100
) 54,240
S 1,022,938

2Ue32 x8(=21) 134,942 196,775 N21,833
= 62,652
= 72,290

401 AIEHIZ SR OHYI 134,942 156,775 A21,833
= 62,652
= 72,290

01 Al&H| 130,142 180,775 A20,633
OZUREY =8 130,142
= 60,423
=S 69,719

02 Zeltl 4,800 6,000 1,200
OZUREY &8 4,800
= 2,229
= 2,571

HMSIHI(2 D) 363,580 537,888 184,308
= 176,790
= 176,790

401 Al HIZL 201 363,580 537,888 184,308
= 176,790
== 176,790

01 Al&HI 327,875 499,709 A171,834
OZ2LHR I 78,284
= 39,142
< 39,142
Oott=+8 54,175
= 27,088
= 27,087
(OES=INPIE ) 55,744
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SH: ARTEI e SRIE
HE: APDE|E WL (SR)(SYHSSA/AL - ME
ol ==8 FEAHAH 2= EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 27,872
=S 27,872
Otr=01g =130 139,672
= 69,836
[ 69,836
02 Zeltl 24,705 36,679 A11,974
O2LIF It 8,500
= 4,250
= 4,250
OZ=E XD 5,005
= 2,502
== 2,503
O&t=0ilg=I131] 11,200
= 5,600
= 5,600
03 A2 20HHI 1,000 1,500 A500
OAIZ 20l 1,000
= 500
=S 500
SBAEDRII(22) 77,400 50,820 26,580
= 39,450
[ 37,950
101 @12A4H| 66,730 43,440 23,290
= 34,012
= 32,718
04 JItN2Z2XNSE 66,730 43,440 23,290
O33&E I 66,730
= 34,012
= 32,718
201 er23| 10,670 7,380 3,290
= 5,438
S 5,232
01 At2teltl 8,170 5,380 2,790
o=5+¢ 6,670
= 3,400
S 3,270
Ou=s=&t| 1,500
= 764
= 736
02 s5=4g4l 2,500 2,000 500
O==Hl & Hbl=Al2e 2,500
= 1,274
< 1,226
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SH: ARTEI e SRIE
HE: APDE|E WL (SR)(SYHSSA/AL - ME
ol ==8 FEAHAH 2= EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
3AgooI(=1) 108,480 135,600 N27,120
Jl 54,240
== 54,240
401 AlEHIZ S 0HBI 108,480 135,600 N27,120
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